

Banarsidas Chandiwala Institute of Hotel Management & Catering Technology

Status of Library: 2024-25

**Library Books** ,

Total Books : 10733

Total Title : 3849

**Total Journals** : 22

National : 15

International: 07

Subscribed : 21

Institute's Journal  
(BCIHMCT) : 01

**E-Journals:**

Gale Cengage Learning Online Journals:

1. Hospitality, Tourism & Leisure Collection (HTLC)
2. Culinary Art Collection (CAC)

**Magazines** : 14

**Newspapers** : 06



*Chandiwala*





# The Hospitality Press

ELITE PUBLISHER OF HOTEL MANAGEMENT & CATERING TECHNOLOGY BOOKS

7360-B, PREM NAGAR, GALI No. 1, SHAKTI NAGAR, DELHI - 110 007  
Ph. 9013629093, 011- 23824937; Email: thehospitalitypress@gmail.com

To,  
The Librarian,  
Banarsidas Chandiwala Institute of Hotel Management and  
Catering Technology  
Chandiwala Estate, Metro Station, Ma Anandmayee Marg  
Near Govinpuri, Shyam Nagar, Kalkaji  
New Delhi - 110019

INVOICE No. 350

Date: 24-03-2025

PRINTED BOOKS EXEMPTED UNDER GST HSN CODE : 4901

S.No.	AUTHOR	DISCRIPTION	PRICE	QTY	Gross Amt.	DISC%	AMOUNT
<b>Total Broght Forward</b>				<b>134</b>	<b>83819</b>		<b>62864.25</b>
25	Arundhati Rana	Impact of New Media in Tourism	Rs 495.00	6	2970.00	25.00	2227.50
26	Nikita Tomar	Indian Cultural Heritage Perspective for Tourism	Rs 595.00	6	3570.00	25.00	2677.50
27	Khushboo Sharma	International Tourism and Hospitality in the Digital age	Rs 495.00	6	2970.00	25.00	2227.50
28	Gauri Srivastava	Introduction to Hospitality Management	Rs 495.00	6	2970.00	25.00	2227.50
29	Gauri Srivastava	Key Concepts in the Hospitality Management	Rs 495.00	6	2970.00	25.00	2227.50
30	Rashni Rana	Media and Tourism	Rs 495.00	6	2970.00	25.00	2227.50
31	Sanjay Nibhoria	Medical Tourism Industry	Rs 495.00	6	2970.00	25.00	2227.50
32	Rashmi Rana	New Research Paradigms in Tourism Geography	Rs 495.00	6	2970.00	25.00	2227.50
33	Sujit D & Julka s	Principles of Hotel Management	Rs 450.00	6	2700.00	25.00	2025.00
34	Bhatnagar S.K.	Profitable Food & Beverages Management	Rs 1195.00	10	11950.00	25.00	8962.50
35	Dr. Saxena & Dr. Gupta	Strategic Management Unleashed: Navigating the Path to Success	Rs 650.00	6	3900.00	25.00	2925.00
36	Srivastava & Kumar	The Bakers Handbook: Bread, Cake and Cookies	Rs 795.00	6	4770.00	25.00	3577.50
37	Kant J.P & Gulati S.	The Waiter's Handbook	Rs 495.00	6	2970.00	25.00	2227.50
38	Kant J.P & Amit K.	Tourism Management: An Overview	Rs 595.00	6	3570.00	25.00	2677.50
39	S P Nanda	Kebabs of India	Rs. 2050.00	1	2050.00	15.00	1742.50
40	Vikas Khanna	Essence of Seasoning	Rs. 999.00	1	999.00	15.00	849.15
41	Bimal Chhajer	Zero Oil Cookbook	Rs. 325.00	6	1950.00	15.00	1657.50
42	Bimal Chhajer	Zero Oil Sweets Book	Rs. 300.00	6	1800.00	15.00	1530.00
43	Prena Srinivasan	Pure Vegetarian	Rs. 1299.00	1	1299.00	15.00	1104.15
44	Sadaf Hussain	Masalamandi	Rs. 999.00	1	999.00	15.00	849.15
45	Ankit Shukla	The insights of Food & Beverage in Hotel Industry	Rs. 849.00	1	849.00	15.00	721.65
46	Sayceda Akhtar	At Home with Indian Cookery	Rs. 1958.00	1	1958.00	15.00	1664.30
47	C R Kothari	Rescarrch Methodology Methods & Technique/ 5th Ed.	Rs. 499.00	6	2994.00	15.00	2544.90
48	Vikas Khanna	Khanna Sutra	Rs. 995.00	1	995.00	15.00	845.75
49	Prachi Raturi Misra	Uttarakand Cuisine	Rs. 295.00	6	1770.00	15.00	1504.50
50	Vivek Pathak	Front Office Handbook	Rs. 550.00	6	3300.00	15.00	2805.00
51	N H Mullick	Customer Relationship Management	Rs. 750.00	6	4500.00	20.00	3600.00
52	Vikas Khanna	Barkat	RS. 499.00	3	1497.00	15.00	1272.45
53	Pushpee Moorjani	Sindhi Cusine	Rs 425.00	6	2550.00	15.00	2167.50
<b>Total Carried Forward</b>				<b>274</b>	<b>167549</b>		<b>128387.75</b>





# The Hospitality Press

ELITE PUBLISHER OF HOTEL MANAGEMENT & CATERING TECHNOLOGY BOOKS  
7360-B, PREM NAGAR, GALI No. 1, SHAKTI NAGAR, DELHI - 110 007  
Ph. 9013629093, 011- 23824937; Email: thehospitalitypress@gmail.com

To,  
The Librarian,  
Banarsidas Chandiwala Institute of Hotel Management and  
Catering Technology  
Chandiwala Estate, Metro Station, Ma Anandmayee Marg  
Near Govinpuri, Shyam Nagar, Kalkaji  
New Delhi - 110019

INVOICE No. 350 Date:- 24-03-2025

**PRINTED BOOKS EXEMPTED UNDER GST HSN CODE : 4901**

S.No.	AUTHOR	DISCRIPTION	PRICE	QTY	Gross Amt.	DISC%	AMOUNT
Total Broght Forward				274	167549		128387.75
54	Pushpesh Pant	Lazzatnama	Rs. 395.00	6	2370.00	15.00	2014.50
55	Ranjit Kumar	Research methodology: A step by step guide for Beginners/ 4th Ed.	Rs. 950.00	2	1900.00	15.00	1615.00
56	Indraneel Bose	Fundamentals of Hotel Front office	Rs. 650.00	6	3900.00	15.00	3315.00
57	Prakriti Srivastav	The Lucknow Kayastha Cookbook	Rs. 999.00	2	1998.00	15.00	1698.30
58	Meera Budhwa	The Ultimate Indian Cookbook	Rs. 995.00	2	1990.00	15.00	1691.50
59	Indu Swamy	The Timeless Taste of Karnataka's Culinary Heritage	Rs. 1500.00	1	1500.00	15.00	1275.00
60	Amandeep Singh	Food & Beverage Service Basics	Rs. 700.00	6	4200.00	15.00	3570.00
61	Kapil Shanker Tiwari	Industry readiness for food & Beverage Service	Rs. 1000.00	2	2000.00	15.00	1700.00
62	Amitabh Ramachandran	Food Service Managers, Occupation Employment	Rs. 495.00	3	1485.00	25.00	1113.75
63	Kalini Loke	Fraud Presentation in Hospitality Industry	Rs. 495.00	3	1485.00	25.00	1113.75
64	Arundhati Rana	The Ethics of Tourism-Critical and applied Perspectives	Rs. 495.00	3	1485.00	25.00	1113.75
65	Arundhati Rana	Tourism Administration	Rs. 495.00	3	1485.00	25.00	1113.75
66	Arundhati Rana	Tourism Business Frontiers-Consumers, Products and Industry	Rs. 495.00	3	1485.00	25.00	1113.75
67	Dr. Sanjay Nibhoria	Tourism Destination Marketing –A Tool for Destination Management	Rs. 495.00	6	2970.00	25.00	2227.50
68	Gauri Srivastava	Tourism, Hotel Management and Hospitality	Rs. 495.00	6	2970.00	25.00	2227.50
69	Arundhati Rana	Travel and Tourism Administration	Rs. 495.00	3	1485.00	25.00	1113.75
70	G.G Saxena	No Dream id too Big	Rs. 400.00	3	1200.00	25.00	900.00
<b>AMOUNT</b>				334	203457		157304.55

**Rs. ONE LACK FIFTY SEVEN THOUSAND THREE HUNDRED AND FIVE ONLY.**

Shipping Charges	0.00
AMT ROUNDED OFF	0.45
<b>Net Amount</b>	<b>157305.00</b>

E. & O.E.

- The Books Supplied are of Latest Edition and are not Remained Titles.
- Current Publisher's Price has been Charged.
- PAN No. AMFPJ4407P
- Non Receipt of Books or any Discrepancy must be reported within a Week.
- BANK DETAILS: HDFC BANK Ltd., C/A. No.50200014028494; IFSC CODE : HDFC0000314
- ALL DISPUTES ARE SUBJECT TO DELHI JURISDICTION.

*Books are Accessioned  
From Acc. No. 10400 to 10733  
in the Acc. Register at  
Page No. 24 to 38*

*g/l/kl*

LIBRARIAN  
Banarsidas Chandiwala Institute of  
Hotel Management & Catering Technology  
Kalkaji, New Delhi-110019

For THE HOSPITALITY PRESS

Prop.





परिग्रहण  
ACCESSION REGISTER

दिनांक Date	परिग्रहण संख्या Accession Number	लेखक AUTHOR	पुस्तक नाम TITLE	प्रकाशन स्थान एवं प्रकाशक Place & Publisher	वर्ष Year	पृष्ठ Pages	खण्ड Vol.	प्राप्ति स्रोत Source	मूल्य Cost	वर्गीक Class No.	ग्रन्थीक Book No.	बिल नं० व तिथि Bill No. & Date	टिप्पणी Remarks
	10701	Ramachandran, Amitabh	Food Service Managers, Occupation Employment	Delhi: The Hospitality Press	2023	126		The Hospitality Press, Delhi	495			350 24/3/25	
	10702	-do-	-do-	-do-	2023	126		-do-	495			-do-	
	10703	-do-	-do-	-do-	2023	126		-do-	495			-do-	
	10704	Loke, Kalini	Fraud Presentation in Hospitality Industry	Delhi: The Hospitality Press	2023	134		-do-	495			-do-	
	10705	-do-	-do-	-do-	2023	134		-do-	495			-do-	
	10706	-do-	-do-	-do-	2023	134		-do-	495			-do-	
	10707	Rana, Arundhati	The Ethics of Tourism: Critical and Applied Perspectives	Delhi: The Hospitality Press	2023	153		-do-	495			-do-	
	10708	-do-	-do-	-do-	2023	153		-do-	495			-do-	
	10709	-do-	-do-	-do-	2023	153		-do-	495			-do-	
	10710	Rana, Arundhati	Tourism Administration	Delhi: The Hospitality Press	2023	156		-do-	495			-do-	
	10711	-do-	-do-	-do-	2023	156		-do-	495			-do-	
	10712	-do-	-do-	-do-	2023	156		-do-	495			-do-	
	10713	Rana, Arundhati	Tourism Business Frontiers - Consumers, Product and Industry	Delhi: The Hospitality Press	2023	159		-do-	495			-do-	
	10714	-do-	-do-	-do-	2023	159		-do-	495			-do-	
	10715	-do-	-do-	-do-	2023	159		-do-	495			-do-	
	10716	Nibhoria, Sanjay	Tourism Destination Marketing: A Tool for Destination Management	Delhi: The Hospitality Press	2022	132		-do-	495			-do-	
	10717	-do-	-do-	-do-	2022	132		-do-	495			-do-	
	10718	-do-	-do-	-do-	2022	132		-do-	495			-do-	
	10719	-do-	-do-	-do-	2022	132		-do-	495			-do-	
	10720	-do-	-do-	-do-	2022	132		-do-	495			-do-	
	10721	-do-	-do-	-do-	2022	132		-do-	495			-do-	
	10722	Srivastava, Gausi	Tourism, Hotel Management and Hospitality	Delhi: The Hospitality Press	2023	130		-do-	495			-do-	
	10723	-do-	-do-	-do-	2023	130		-do-	495			-do-	
	10724	-do-	-do-	-do-	2023	130		-do-	495			-do-	
	10725	-do-	-do-	-do-	2023	130		-do-	495			-do-	



परिग्रहण  
ACCESSION  
पुस्तिका  
REGISTER

दिनांक Date	परिग्रहण संख्या Accession Number	लेखक AUTHOR	पुस्तक नाम TITLE	प्रकाशन स्थान एवं प्रकाशक Place & Publisher	वर्ष Year	पृष्ठ Pages	खण्ड Vol.	प्राप्ति स्थान Source	मूल्य Cost	वर्गीक Class No.	ग्रन्थीक Book No.	विल नं० व तिथि Bill No. & Date
	107 26	Srivastava, Gauri	Tourism, Hotel Management and Hospitality	Delhi: The Hospitality Press	2023	130		The Hospitality Press, Delhi	495 -			350 24/3/25
	107 27	-do-	-do-	-do-	2023	130		-do-	495 -			-do-
	107 28	Rana, Arundhati	Travel and Tourism Administration	Delhi: The Hospitality Press	2025	149		-do-	495 -			-do-
	107 29	-do-	-do-	-do-	2025	149		-do-	495 -			-do-
	107 30	-do-	-do-	-do-	2025	149		-do-	495 -			-do-
	107 31	Saxena, GG	No Dream is Too Big	New Delhi: Prabhat Prakashan	2024	275		-do-	400 -			-do-
	107 32	-do-	-do-	-do-	2024	275		-do-	400 -			-do-
	107 33	-do-	-do-	-do-	2024	275		-do-	400 -			-do-
	107 34											
	107 35											
	107 36											
	107 37											
	107 38											
	107 39											
	107 40											
	107 41											
	107 42											
	107 43											
	107 44											
	107 45											
	107 46											
	107 47											
	107 48											
	107 49											
	107 50											

